RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-956 Glazed Therma-Tru FG door OXO (LK, DB) 14 in SL (4757-4758\C - Drawings\TX-4757.58.dwg, TX-4757

has BY
ST, [ (T]eR
=¥l 3 32 - l8q 0
POWERED BY|}W, Sxrioi-nly, | Z|83 2.
Sosi2 g < |Ex 6 49
I 4 Y- v % 'x‘ 2 o W 2 £ b i3 Z o~
2o 1019 % Su 6B &-
'l B wriois & ce 2y 8l
. ” guéé%a;zé & i3 g8 3>
% 1A ¢ ] o
DOOR COMPONENTS MADE IN THE USA ‘:}l\%/ ':.% ER Y ‘; S §§ %é
z '0,.”.." "-'z ':"‘”'Q\Q,\, ) e § g ,q'
s int & 2aa 45
Mt & oo EB
v Q3 % h-m
g g L oy
F s I 69" MAX. OVERALL 3 2 S 5 gt‘-’
aze | erg ass FRAME WIDTH e = 8¢
" [ ¥ § g E
£ )
Single Door w/ Sidelites P S
[7p]
CONTINUOUS HEAD & SILL FRAME SYSTEM =L
INSWING / OUTSWING 2=
"NON-IMPACT" <5
— O & . D5
|9 3¢ s 358
;;:-' T Eo Lzu sl 4S8
52 33 3 .8
= 152} g
2 2§ © 3 |gFe
= 2
EVALUATED FOR USE IN THE STATE OF TEXAS fl T ‘é’ = % % a
The Glazed Fiberglass Door system described herein complies with the 2018 «© 3 = g
International Residential Code {IRC}, Sections R301 & R609 and the 2018 & & L 2
international Building Code {IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 =
subject fo the following conditions: §

1. Anchors shall be as listed and spaced as shown in the details. Anchor : 8
embedment fo base material shall be beyond wall dressing or stucco. 3 %

2. When used in areas requiring wind-borne debris protection this product is g S
required to be protected with an impact resistant covering that complies Ll =
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC. g g %

3. Allowable design pressure requirements must be equal to or less than the Lg NS
design pressure rating shown in the design pressure chart, sheet 1 of this sIR &
drawing. 2

4. Conditions not covered by this drawing are subject to further engineering =15
‘analysis. ' ' NS

<<
(¢33
TABLE OF CONTENTS 5 |
SHEET # | DESCRIPTION NS
1 Typical elevations, design pressures & general nofes s = .
2 | Door panel details 2 OSITIVE | NEGATIVE - 12
3 |Slidelte panel details INSWING -70.0 +50.0 -50.0 DATE: 12/05/17
4 Horizontal cross sections scate:  N.T.S.
5 Vertical cross sections OUTSWING +50.0 -50.0 +50.0 DWG. BY: JK
é Vertical cross sections CHK. BY: LFS
7__|Frome anchoring SEE SHEET 6 FOR THRESHOLD DESIGN PRESSURE LIMITATIONS DRAWNG NG
TX—4757

sHEer 1 ofF 7




i
EXTERIOR T °q
g = e 2.38" 1.78" S g2 o i
Rl £ 0 Z -
—_— = - TOP RAIL 15 huy ¢B BT
- U U T o T ] - &3 1
— ) ::‘: B o . S S = . Sunr \ j % : gg g é% éé
- hno o o /r._/ \_._,\ o Al 1 M- = } 2 o QE
/ Uiz s gR® 92
Tomsaet™ & .S ¢
HINGE STILE INTERIOR LOCK BLOCK ’ 3 287 5.
(LAMINATED WOOD) AL USIS (12.5" LONG) e g 2355 o0
(LAMINATED WOOD) LATCH STLE TR ® 254& %k
LAMINATED WOOD P & o
/ 1"\ HORIZONTAL CROSS SECTION ‘ ’ R PR mg
e c
2 i PR
WIDTH 7/
23.75" MAX.
DLO. —— 2o
GLASS BITE 9/16" —=— o ==
b ———11/16" GLASS THK. e Lk
<
o ..
] /— 1/8" TEMPERED 2 |5 Eg
s = <t
o} a<g
AIR SPACE 9| o
7 s s |8
710 / o INTERIOR EXTERIOR 5 gl o
\2/ Yo 1/8' TEMPERED o R g C
% = <
g i ? BACKBEDDING STAINLESS STEEL SPACER g E
[TV w3
25 SEALANT .
2 & 8, } IS
£ 2 X G gbﬁzgfs zemu N
> 5 oY ush Glaze Slx
<z N Elo]
= O ojm %)
wy -
™~ LY (@]
& SEE HARDWARE sl @
/ TABLE e SN
/ oLl sIR| |
4 &l
/ Y o wls
4 > . : C g
FIBERGLASS SKIN AT - <
SR X =
- o N |
O [s,) —
: NEE
S KNOB: SIGNATURE SERIES BOTTOM RAIL ot 12,/05,17
KWIKSET :
DEADBOLT:  SIGNATURE SERIES (980) (COMP.) st NTS
. DOOR PANEL DWG. BY: JK
Therma-Tru Fiberglass
¢ / 2\ VERTICAL CROSS SECTION cc g LFS
2 DRAWING NO.:
DOOR SKIN: FIBERGLASS (0.075" MIN. THICKNESS) TX—4757
CORE MATERIAL: POLYURETHANE FOAM P ——

R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-956 Glazed Therma-Tru FG door OXO (LK, DB) 14 in SL (4757-4758\C - Drawings\TX-4757.58.dwg, 2.3

@ 20716 R.W. BUILDING BONSULTANTS IND,



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-956 Glazed Therma-Tru FG door OXO (LK, DB) 14 in SL (4757-4758\C - Drawings\TX-4757.58.dwg, 3.3

SNy iy
,.’.T:::“C;f(.-":: 2 § ":?"%?& { "G.g & o
06— == " EXTERIOR TOP RAIL LR E T E2 & us
. (COMP,) A ALY 6y S5 o7
gui NS wt T 5wk
2ot P ;2w
? oot iz & E o @ gz
Pen 10 T Zeg 68
- = (} A, 10 > Jg50© Ok
r\. ~ I '( et 25 0 §
o ? & e 0] n E
- Oy, > 5t Zom 5bh
. o - o® [v3 4
; Tt & O KD
L o ox2 &
: 2 Zd, o4
s ‘ g = -
STLECAP  HINGESTILE INTERIOR = e £ 328 2y
(WOOD) (LAMINATED WOOD) INFERTOR e " L§ 8
/ 1"\ HORIZONTAL CROSS SECTION 1, e KBS
\3/ FOAM CORE , :,7 L 8
14" MAX.
PANEL WIDTH 9
——- 6" MAX. D.LO. )
oZ
> g R
> > 30
= |9 az
| / - 7 l;t'a
/ n m \L[_
, GLASS BITE9/16 ol S
*l 11/16" GLASS THK. INTERIOR EXTERIOR e PE
m " 8 [
] / 1/8" TEMPERED S i
W v T N AIR SPACE —
o >
g B d\ ( G
I 5 Lo e 2
g 3 @) 1/8" TEMPERED oy i
£ % " ze
é’ 5 BACKBEDDING STAINLESS STEEL SPACER L - l?l —] R
= S SEALANT M T SIE 2
: R o| [
3 AR tle| 2
S G1) SLAZING DETAIL RS RN
Hush Glazed S S Bl |
7 ) . \ N ] '.T. ‘— :- Q
FIBERGLASS SKIN R 35
- <
n >
> |
2 S
@ BOTTOM RAIL e - 12
(COMP.) ,
. SIDELITE PANEL oATE: 12,/05,/17
Therma-Tru Fiberglass scAlE:  N.T.S.
/2 VERTICAL CROSS SECTION owo. &v.__ JK
3 CHK. BY: LFS
DRAWING NO.:
TX—4757

SIDELITE SKIN: FIBERGLASS (0.075" MIN. THICKNESS)
CORE MATERIAL: POLYURETHANE FOAM

SHEET 3 oF 7

© zo016 R.W. BUl.DING DONSULTANTS ING.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-956 Glazed Therma-Tru FG door OXO (LK, DB) 14 in SL (4757-4758)\C - Drawings\TX-4757.58.dwg, 4.3

T ©
KT N 3 R~
5_/ 5 ﬁ“?%_.-"°‘§ E ,9 3 g o gg
s iz = g uo
b b NN ¢ Sy ¢B BT
‘3“":‘%‘% 3 wE g 8y
Vi / VA ?;C;; 2 =4 5§ 4 0 ® g':
/ G i B Lot 2>, B
/ ¢ ot ? Q 0 b
m BACK-TO-BACK JAMBS: zlz{’{{{\:;\iﬁo 58° gg
= "FusionFrame” "Fusionframe" (1 OR 2-PIECE) & o x3 oy
\4/ @@ MULLION B Z8, Sy
v 5 5 \ o =0 @ o
(3 ¢ Bo& &E
v U, — a o 5
(i ) INTERIOR #10X 2-1/2" PFH 2 -
O X2\ © _|O % % — WOODSCREW | & @% %’g
\4 /| e #8 X 2-1/2" FH COURSE ENDURA WEATHERSTRIP (SEENOTE 2) 3 -
O (] 8
iz THREAD DRYWALLSCREW |5 )|, (QEBD/PE ¢50) | 3
\ 4/ (SEENOTE 1) DOORPANEL  ENDURA WEATHERSTRIP SIDELITE PANEL
(QEBD/PE 650) /
/ / ATRENS A
4 NN, ~ -~ % Al = %§J
pus |
b b q < / % 5 S %8
~ SIDELITE PANEL #8X 2-1/2" PFH w@gé gc P;é—!w ) § & I%
CORNER PADS (8N /3N N2 4 #8 X 1" PFH SMS DOOR PANEL WOOD SCREW G 5
#8 X 2-1/2" PFH WOOD SCREW LATCH (SEENOTE 1) 2
ey N8/ 8/ \ 8N/ / SIRIKE PLATE 3 =
ELEVATION #8 X 3/4" PFH SMS 4" HINGE EXTERIOR & <
OXO SHOWN
(XO/OX SIMILAR) /3" HORIZONTAL CROSS SECTION (4™ HORIZONTAL CROSS SECTION £ %
W Outswing shown - Inswing also approved \4_/ Outswing shown - Inswing also approved "
O
| ].5“ R  San. et ].5" - % 8
4-3/8" FATBOY 4-3/8" FATBOY 2|2
I \ woop [ ) PINE MULLION PINE MULLION =15
N ™ N1 INTERIOR . oE 2
\ AR #8 X 2-1/2' FH COURSE o ©
COMPOSITE #8 X 2-1/2" FH COURSE ENDURA WEATHERSTRIP THREAD DRYWALL SCREW g8 B
\ ) THREAD DRYWALL SCREW (QEBD/PE 650) {SEENOTE 1) £lo| |&
3 . 5 (SEENCTE ) . DOOR PANEL ENDURA WEATHERSTRIP : SIDELITE PANEL 3
~ ’\1 N ~ N ;~ ' A (QEBD/PE 650) ~_ 4 |2 / | IS
O O N\ IS S , -
;;f,*,*/ﬂ’f,/j,e'//;’}’g/ //’/’///'{/’//“////,{//" \ —
NS5 ? N m s X S S S e
S AN x ~ S N
\D E:)) NN N ‘ / ‘ h .
/ - p |
—~ 28— 25 SIDELITE PANEL Ex 1% PEH SMS / #8 X 2-1/2' PFH WOOD SCREW owte: 12/05/17
FATBOY MULLION MULLION #8 X 2-1/2" PFH WOOD SCREW DOOR PANEL LATCH SCALE: N,Tj(.
H DWG. BY:
PINE "FusionFrame” " " STRIKE PLATE '
#8 X 3/4" PFH SMS 4" HINGE EXTERIOR ok v LFS
NOIES: DRAWING NO.:
1. Spacing for sidelite screws: 6.5", 38.5" and 69" from head to sill (3 total). m HORI'ZONTAL CROSS SECTION /3\ gOfR"ZOhLTAL CgOSS SEICT’O’:‘ e TX—4757
2. Spacing for mullion screws: 6" from each end plus 3 more equally spaced (5 total). \U Outswing shown - Inswing also approved \J iswing shown - Inswing di50 dppro sHeer 4 oF 7

© zo16 R.W. BUILDING DONSULTANTS INC.




RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-956 Glazed Therma-Tru FG door OXO (LK, DB) 14 in SL (4757-4758\C - Drawings\TX-4757.58.dwg, 5.3

W Outswing shown - Inswing also approved

w Outswing shown - Inswing also approved

2X FRAMING uj
2X FRAMING 2(2"5”5‘%)6 (G >= 0.42) s “q
- = U. : = (7]
_ - (G >=0.42) — _ ~m ~ ES o EB
71 \ / % L ! \ é* s 2 g:
iy S T ) EXT. SHEATHING [}/f] g ;’,\ o1
¥l | 1M 3 L L il
EXT. SHEATHING I : tfl‘ \ DRYWALL : ‘ EXT. SHEATHING \ y } 4 \D?YWALL §§ E g g g:
\, , 5 DRYWALL \ - ‘ e I . H § it 28
11, | #10x2-1/2" PRH J _#10X2-1/2"PFH It 5 SR g8
Il L[~ WOOD SCREW S "~ WOOD SCREW , v 3% ur
4 MAX. | i ! ) § g§%g 28
SHIM SPACE 1 1/4" MAX. i N § 592 Eu
/ \ #10 X 3" PFH £ BET g%
w¥ e SHIM SPACE\ . / WOOD SCREW : L§ 8 %
SHE SAE 174" MAX. PR gg
I SHIM SPACE = 100 Dﬂo §
DOOR PANEL \\ ? SIDELITE PANEL ~ \ * DOOR PANEL
S~ N N HEAD: "FusionFrame" (1-PIECE) 2
PEAD: PN #8 X 2-1/2' FH COURSE HEAD: PINE ENDURA WEATHERSTRIP =
ENDURA WEATHERSTRIP ~ THREAD DRYWALL SCREW (QEBD/PE 650) A
(QEBD/PE 650) (SEENOTE 1) & %
" EXTERIOR W INTERIOR = R
EXTERIOR W INTERIOR INTERIOR EXTERIOR EAIERIVUR 0] ok L% O_ED: &
EAIERIUR INTERIOR — , S
/ 1"\ VERTICAL CROSS SECTION /2" VERTICAL CROSS SECTION (3" VERTICAL CROSS SECTION 1+ Spacing forsicelfe screws: 3 =
W Outswing shown - inswing also approved W Inswing shown - Qutswing aiso approved \y Outswing shown - inswing also approved 4" from each end (2 total). = ol B
3 O W
(o} - >
(@] 24
o <t
Q. o
gl &
1/4" MAX. m
SHIM SPACE ) 1/4'MAX.  #10X 2-1/2" PFH 513
#10 X 2-1/2" PFH WOOD SCREW SHIMSPACE  WOOD SCREW zlo
. JAMB: PINE U . SlE
0.75" —'i<“> 0.75" -’—-—-— t“—'-'— 0.75 DRYWALL JAMB: "FusionFrame DRYWALL =N
| ,____[ — \ / / (1 OR 2-PIECE) / 38| n
COMPOSITE ~ - - ~ s =
SNAP-ON #8 X 2-1/2' FH COURSE \ #8 X 2-1/2" FH COURSE S| |
CAP THREAD DRYWALL SCREW THREAD DRYWALL SCREW S
‘ N (SEENOTE1) (SEE NOTE 1) N
= [ ] =)
il AN N 2
o
D ™\ N 2
(] 2X FRAMING 2X FRAMING > L.é"
/ g L ’X (G>=0.42) (G >=0.42) SEE
o [ VN ‘ e
e == 0ATE: 12/05/17
"'l 1.25" L‘-w» 125" =~ | 195 |le— / scale:  N.T.S.
' SIDELITE PANEL SIDELITE PANEL owo. B:  JK
JAMB / HEAD JAMB / HEAD JAMB EXT.SHEATHING - EXTERIOR EXT. SHEATHING ok oy LFS
PINE "FusionFrame” "FusionFrame” DRAWING NO.:
e i /~4 "\ HORIZONTAL CROSS SECTION /~5 "\ HORIZONTAL CROSS SECTION o

SHEET 5 oF 7

© zo16 R.W. BUILDING DONSULTANTS ING.



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-956 Glazed Therma-Tru FG door OXO (LK, DB) 14 in SL (4757-4758)\C - Drawings\TX-4757.58.dwg, 6.3

—_ — A\
? ENDURA DOOR /(
DOOR DOOR SWEEP PANEL N

PANEL AN

ENDURA ENDURA WEATHERSTRIP c-"?,:\«x:; ~
DOOR SWEEP Fo i
i ol
/ (DBK-ZAC) 2
1

23
<

AT
QF T
. ?'.0‘ B N

#10 X 2.5" PFH WOOD SCREW OR
174" X 2-3/4" ELCO OR [TW CONCRETE SCREW

#10 X 2.5 PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/2" \ VERTICAL CROSS SECTION

NOTE:

#10 X 2.5" PFH WOOD SCREW OR 1.
1/4" X 2-3/4" ELCO OR [TW CONCRETE SCREW

/3" VERTICAL CROSS SECTION

71"\ VERTICAL CROSS SECTION
w Inswing Adjustable Threshold

SIDELITE
PANEL

#8 X 2.5" COURSE THREAD

DRYWALL SCREW N S
(SEE NOTE 1) N
INTERIOR g

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/ 4\ VERTICAL CROSS SECTION
\6] Inswing configuration

! 456 —— i 456 |
INSWING ADJUSTABLE THRESHOLD 2} INSWING ADJUSTABLE THRESHOLD
LAIL4565 ZAI4565FN

[MAX_ DESIGN PRESSURE = +65/-65 PSF | | MAX_ DESIGN PRESSURE = +65/-65 PSF |

%

b 456" | b 456 |
5} INSWING ARTICULATING THRESHOLD @ INSWING ARTICULATING THRESHOLD
LACLA4565 ZIACA4565FN
17) QUISWING THRESHOLD
IOBL4565

w Inswing Articulating Threshold

w Qutswing Bump Threshold

SIDELTE -] ~
PANEL\

X o
#8 X 2.5" COURSE THREAD —— Lo %‘E}‘?
DRYWALL SCREW o7 % 0
(SEE NOTE 1) 2 % 7//////4
EXTERIOR

#10 X 3" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/"5 "\ VERTICAL CROSS SECTION

\6/ Outswing configuration
. . =) < )
3 3 y &
[ 456" | ! 456" | } 456" |
3 INSWING ADJUSTABLE THRESHOLD 4 INSWING ADJUSTABLE THRESHOLD 5 INSWING ADJUSTABLE THRESHOLD
ZAILAA4565 ZAIAA4565FN ZAI4565RDS

[ MAX. DESIGN PRESSURE = +65/-65 PSF | | MAX. DESIGN PRESSURE = +5/-65 PSF | [MAX. DESIGN PRESSURE = +55/-60 PSF |

( »
P ole——ase | [ 456 | 456" |
@mswme ARTICULATING THRESHOLD  ("3") INSWING ARTICULATING THRESHOLD 10 }/NSWING ARTICULATING THRESHOLD
ZACLAA4565 IACAAA4565FN LACA4565RDS
4 [MAX. DESIGN PRESSURE = +55/-60 PSF |
L— 5
R X
< ,
» g Sy ——
b 456" | 13 ) QUISWING THRESHOLD
12) QUISWING THRESHOLD ZOB4565RDS
ZOBA565FN [MAX_ DESIGN PRESSURE = +55/-60 PSF |

Spacing for sidelite screws:
¢&" from each end (2 total).

Lyndon F, Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595

Phone No.: 813.659.9197

BUILDING CONSULTANTS, INC.
TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By

CERTIFICATE OF REGISTRATION # F—11852

VERTICAL
CROSS SECTIONS

ENDURA
FIBERGLASS DOOR

PRODUCT:

LFS | PART OR ASSEMBLY:

BY

UPDATE TO 2018 IBC/IRC CODE

11/19/19]ADD “FusionFrame” OPTION &

1

REVISIONS

o
<
a
e]
z
7

DaTE: 12/05/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX~-4757

SHEET 6 oF 7

© zo18 R.W. BUILDING DONSULTANTS INC.



Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-956 Glazed Therma-Tru FG door OXO (LK, DB} 14 in SL {4757-4758)\C - Drawings\TX-4757.58.dwg, 7.3

g HEAD ANCHORS: 2X FRAMING HEAD ANCHORS: A u
g = #10X 2-1/2" WOOD SCREW (PINE JAMB) (BY OTHERS, TYP.) #10 X 2-1/2" WOOD SCREW (PINE JAMB) &‘\-"'"?"__ s &
o #10 X 3" WOOD SCREW (1-PIECE JAMB) SEE DETAIL 1 #10 X 3" WOOD SCREW (1-PIECE JAMB) f%* 2 25, g
N9 4 (TYP) o 2 (TYP) —=] y . FAZEBEY £ & e
o CCL) 3" {TYP.} —p+] n 4" (TYP (TYP.) 2" (TYP.) —= s 1O ny O 24 Sy
2 ‘ (7YP.) — £TYP) —m g~ Nrio co 2. g
| gusiy\ fu g gEZ g
f G P iz Sg E Sa 22
T SEE HINGE I T T T 1 M 1 1 —~ {.%i& iQ £ F £8 g2
DETAIL 1 — [ — ] [ o, S Z a>n w
Eﬂ/ } " } zlzg{x _,(5 " s PR éé
T — — T & 9995 oy
= O =, O ° Q352
I = = B 2475 by
- - g 32550
¢ Rok %k
! « o8
B Jl- 0 g og
\ . B \ . = t E
e J y NE FRAME NE E X gg
X - |- (TYP.) ™=~ » 8
PO iE X o) o X o) | &
J = »
oL SEEHINGE = " B g 7 seesiie” ||| .
& DETAIL 2 PLATE DETAL | || 3 o
— SEE DETAIL 1 SEE DETAIL 1 =
1 o] P, JAMB ANCHORS; P < 5
B3 FRAME #10 X 2-1/2" WOOD SCREW (PINE/2-PIECE JAMB) T |y 8
(Tvp.) ~—JL. _ #10 X 3" WOOD SCREW (1-PIECE JAMB) - — S |3 =
[ I 1 11— [ 1| W é L
D = 2 R - i
SILL ANCHORS: SILL ANCHORS: 5 x .
HINGE JAMB #10 X 2-1/2" PFH WOOD SCREW #10 X 2-1/2" PFH WOOD SCREW § =
1/4" X 2-3/4' ELCO OR 1/4' X 2-3/4" ELCO OR i <
FLOOR SUBSTRATE MATERIAL - FRAME ANCHORING oy oo copere screw FRAME ANCHORING MW CONCRETESCRew ~ STRIKE JAMB - -
CONCRETE {MIN. 3000 PSl) OX0O g P
WOOD (G >=0.42) —
Q
o]
KO
g|e
: W 510
JAMB NOTES: #8 X 2-1/2" PFH WS OBl @
THE PINE OR "FusionFrame" 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB. /7 ARG
THE FusionFrame" 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY. l:. B ‘§< g é g
" = w
INTEGRAL MULLION NOTES: _ . #8 X 1" PFH WS :. ] *I T #8X 3/4" PFH WS SIS &
THE FATBOY PINE MULLION, "FusionFrame” MULLION, OR THE "Fusionframe" BACK-TO-BACK — T4 ey iy
JAMB (1-PIECE OR 2-PIECE) MAY ALL BE USED AS THE INTEGRAL MULLION. \ 4" X 4"HINGE cls
CONCRETE ANCHOR NOTES: : v 8 5
1. Concrete anchor locations at the corners may be adjusted to maintain the min.
edge distance to mortar joints. HINGE DETAIL 1 g w
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo #8 X 2-1/2" COURSE o =
maintain the min. edge distance to mortar joints, additional concrete anchors THREAD A (s
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. #8 X 2-1/2" PFH WS =
3. Concrete anchor table: DRYWALL SCREW ] ?%‘&BS&T%ECUR'W L -2
B J, #10X 3' PFH WS <= 4:. le oate: 12/05/17
' jil - .
. " RXTPWS SR, Mlegr=p= vexaapriws oo TLTS
& #8X 2-1/2" PFH WS —= 4 X 4" HINGE K
w ® 1/4" 1-3/4" 1-1/2" P T~ LATCH STRIKE \ CHK. BY: LFS
TAPCON — PLATE W DRAWING NO.:
EICO o " " " " DETAIL 1 TX—4757
ULTRACON 1/4 1-3/4 1 4 Integral mullion attachment STRIKE PLATE DETAIL HINGE DETAIL 2 —

© 2016 R.W. BUILDING CONSULTANTS INC.



